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Ajmal National Talent Search Examination, 2008
Class : VII

Time/a]Ì̂  : 2 hours /H³Oôç Full Marks/ ]ÇPö X¶�ö» : (25+25+25+25)=100

INSTRUCTIONS / ×XãVÛ̀ ç¾_Ý f
1. Attempt All Questions. / YÒãTöîEõäOôç YÒ̀ Â» =wø» Eõ»ç*
2. There are four options to each question. Choose the correct option by putting any one of a, b, c or d,

in the box / YÒ×TöäOôç YÒ̀ Â» $Jôç×»Oôç ×[ýEõ� =wø» ×VÌ̂ ç %çä$K÷* £�ù =wø»äOôç [ýç×$K÷ =×_Ì̂ ç+ EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*

General Knowledge / açWýç»S pûçX

1. If ‘‘FRIEND’’ is written as ‘‘HUMJIK’’, how is ‘‘CANDLE’’ writen in that code?
^×V FRIEND Eõ HUMJIK [ýÇ×_ ×_Fç c÷Ì̂  åTöãÜ�ö CANDLE Eõ ×Eõ açeãEõ×TöEõ %çEõçã» ×_×F[ý Yç×» ?
a) FYOBOC b) ESJFME c) EDRIRL d) DCQHQK

2. What was the other name of king Chilarai?
»Lç ×$Jô_ç»çÌ̂ » %Xî Xç] ×Eõ %ç×$K÷_ ?
a) Pratap Singha/YÒTöçY ×aec÷ b) Biswa Singha/×[ý̀ � ×aec÷
c) Sukladhwaja/£zõW[ýL d) Man Singha/]çX ×aec÷

3. The Charminar of Hyderabad was built to commemorate:/c÷çÌ̂ V»ç[ýçV» $Jôç»×]Xç» ×Eõc÷» Øö�Ê×Tö»lùçãUï aãLç¾ç éc÷×$K÷_ ?
a) Alliance with the British/[ýÊ×Oô$Jô» _GTö ×]yTöç b) Eradication of plague/]c÷ç]ç»Ý ×X]Éï_Eõ»S
c) To welcome Charles-I/$Jôç_ï$Jô YÒU]Eõ %çV»×S d) End of Vijaynagar Empire/×[ýLÌ̂ XG» aç¶�öçLî» a]ç×�

4. ‘Fazli’ is a kind of–
ZõLË_Ý AEõ YÒEõç»----
a) Book/×EõTöçY b) Mango/%ç] c) Meeting/a\öç d) Fish/]ç$K÷

5. The minimum age to be a member of the Lok Sabha is:
å_çEõa\öç» aVaî» [ýçã[ý a[ýï×X¶oö [ýÌ̂ a c÷'_----
a) 18 years/[ý$K÷» b) 25 years/[ý$K÷» c) 28 years/[ý$K÷» d) 30 years/[ý$K÷»

6. Actress ‘Deepika Padukone’ is the daughter of a famous–
×VYÝEõç YQÇöãEõçX ×[ýFîçTö ....................................... » LÝãÌ̂ Eõ---
a) Footbal player/ZÇõOô[ý_ åF_Çê¾ b) Badminton player/å[ýQËö×]³OôX åF_Çê¾
c) Film actor/å[ýç_$K÷[ýÝ %×\öãXTöç d) Political leader/»çLêX×TöEõ åXTöç

7. ‘Smash’ is a term used in–
"Øö�ç$KË÷' ×Eõ åF_» _GTö [ýî¾c÷ç×»Tö c÷Ì̂  ?
a) Golf/G'·Zõ b) Bridge/×[ýÐL c) Tennis/æOô×X$K÷ d) Badminton/[ýîQËö×]³OôX

8. Who is the author of the novel ‘‘Time Machine’’–
""Oôç+] å]×$JôX'' Xç]» GÐÜ�ö FX» å_FEõ åEõçX ?
a) Arthur C. Clarck/%çUïç» ×$Jô. zõçEïõ b) H. G. Wells/A+$Jô ×L Cã¾ã_$K÷
c) Stephen Hawking/×rôãZõX c÷×Eõe d) Aivin Toffler/%ç+×\öX OôZõ_ç»

9. ‘Madhushala’ is composed by/"]WýÇ̀ ç_ç'» »$Jô×Ì̂ Töç åEõçX ?
a) Haribansh Rai Bacchan/c÷×»[ýe` »çÌ̂ [ý¬JôX b) Javed Akhtar/Lçã\öV %çFTöç»
c) Gulzar/m_Lç» d) Sameer/a]Ý»
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10. Which one of the following is not a sea?
Tö_» åEõçXäOôç açG» Xc÷Ì̂  ?
a) Arabian Sea/%ç»[ý açG» b) Bay of Bengal/[ýã�çYaçG»
c) Caspian Sea/Eõç×&Ì̂ çX açG» d) Red Sea/å_ç×c÷Tö açG»

11. Which former Indian Prime Minister’s birthday is celebrated on February 29?
29 åZõ[ýÐÓ¾ç»ÝTö åEõçXLX \öç»TöÝÌ̂  YÒWýçX]Ü�öÝ» LX½×V¾a Yç_X Eõ»ç c÷Ì̂  ?
a) Gulzarilal Nanda/m_Lç»Ý_ç_ X³V b) Indira Gandhi/+×³V»ç GçµùÝ
c) Morarji Desai/å]ç»ç»LÝ åV`ç+ d) Indra Kumar Gujral/+³V» EÇõ]ç»  mL»ç_

12. Which country is the largest producer of gold?
åEõçXFX åVã` %çOôç+TöêEõ %×WýEõ åaçS =dYçVX Eõã» ?
a) USA/%çã]×»EõçÌ̂ b) Norway/X»ã¾ c) Brazil/[ýÐç×L_ d) South Africa/V×lùS %ç×ZÐõEõç

13. With which crop has the Green Revolution in India been associated?
åEõçX×[ýWý ̀ bî» _GTö \öç»TöÝÌ̂  åa=L ×[ýYÀ¾ L×QÍöTö---
a) Vegetable/`çEõ-Yç$Jô×_ b) Milk/GçFÝ»
c) Wheat/åHg§ d) Rice/WýçX

14. The words ‘Satya Meva Jayate’ from the Mundak upanishads are related to–
]Ç�øEõ =Y×XbV» ""aTöîã]¾LÌ̂ ãTö'' ×Eõc÷» _GTö a�×EïõTö ?
a) National song of India/\öç»Tö» LçTöÝÌ̂  aeGÝTö b) National Anthem of India/»çrÑôÝÌ̂  aeGÝTö
c) National Emblem of India/\öç»Tö» »çrôÝÌ̂  YÒTöÝEõ d) None of the above/+Ì̂ çã» AOôçC Xc÷Ì̂

15. The body temperature of a normal human being is:
ALX açWýç»S ]çXÇc÷» ̀ »Ý»» TöçY]çyç-----
a) 36.90 F/Zõçã»Sc÷ç+Oô b) 37.70 C/æ$Jô_×$K÷Ì̂ ç$K÷ c) 81.10 C/æ$Jô_×$K÷Ì̂ ç$K÷ d) 900 C/æ$Jô×³®ÏôäGÐQö

16. What name is given to the ancient remains of living things preserved in rocks?
×`_Tö é» å^ç¾ç %TöÝL» LÝ¾-LÜ�Çö» %¾ã`bEõ ×Eõ Xçã]ã» LXç^çÌ̂  ?
a) Crystals/Øö�õ×OôEõ b) Fossils/LÝ¾ç ½̀ c) Stalegmites/lùTö×$Jôc÷Ô d) Sediments/»ÖYçÜ�ö×»Tö

17. The trial of I.N.A. heroes was held at–
INA » å^ç�ùçaEõ_» ×[ý$Jôç»» £Xç×X Eõ'Tö éc÷×$K÷_-----
a) Bombay/å[ýçã¶�ö b) Delhi/×V{Ý c) Calcutta/åEõ_EõçOôç d) Shimla/×$Jô]_ç

18. ‘U/19 Cricket world cup 2008’ was held in the city of:
%XÇWýï 19 ×[ý �̀EõçY ×yÔãEõOô, 2008 Eõ'Tö %XÇ×�öTö éc÷×$K÷_ ?
a) Nairobi/Xç+ã»ç[ýÝ b) Sydney/×$JôQËöXÝ c) Wellington/å¾×_eOôX d) Kualalampur/EÇõ¾ç_ç_ç]YÇ»

19. ‘Bordoi Chilla’ is a type of:
[ý»êV×$Jô_ç A×[ýWý----
a) Bird/YlùÝ b) Sword/Töã»ç¾ç_ c) Wind/WýÇ]Çc÷ç d) Hill/Yçc÷ç»

20. The Mughal Emperor, who died due to a sudden fall from the staircase was–
åEõçX LX å]çG_ a¶�öçOô» ×$Jô×»» Y»ç [ýçG×» ]ÊTÇöî éc÷×$K÷_-----
a) Babar/[ýç[ý» b) Humayun/§]çÌ̂ ÇX c) Jahangir/Lçc÷ç�Ý» d) Aurangzeb/D»�ãL[ý
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21. Which Mughal Emperor built the ‘Peacock Throne’?
]Ì̂ Ç» ×aec÷çaX åEõçX a¶�öçäOô aLç+×$K÷_ ?
a) Akbar/%çEõ[ý» b) Jahangir/Lçc÷ç�Ý» c) Shahjahan/$K÷çc÷Lçc÷çX d) Aurangzeb/D»eãL[ý

22. Who was the 1st Indian Scientist to receive the Bharat Ratna ?
\öç»Tö»±ó YÇ»�õç» åYç¾ç YÒU] \öç»TöÝÌ̂  é[ýpûç×XEõLX åEõçX %ç×$K÷_ ?
a) A. P. J. Abdul Kalam/A ×Y åL %ç�Ç_ Eõç_ç] b) Sri J. C. Bose/LG×V` $Jô³VÐ å[ýça
c) C. V. Raman/×$Jô ×\ö »]S d) Har Govinda Khurana/c÷»ãGç×[ý³V FÇ»çXç

23. According to the Indian Constitution, The first citizen of India is:
ae×[ýWýçX ]ãTö, YÒU] \öç»TöÝÌ̂  XçG×»Eõ åEõçX ?
a) The Chief Justice of India/]ÇFî ×[ý$Jôç»Y×Tö b) The President/»çrÑôY×Tö
c) The Vice-President/=Y-»çrÑôY×Tö d) The Prime Minister/YÒWýçX]Ü�öÝ

24. Who is known as ‘Sher-e-Punjab’–
åEõçX [ýî×Nþ "å �̀»-+-Yçtç[ý' Xçã]ã» LXçLçT----
a) Lala Lajpat Rai/_ç_ç _çLYTö »ç+ b) Tez Bahadur Sapru/åTöL [ýçc÷çVÇ» $K÷çYÒÓ
c) Bhagat Singh/\öGd×ae d) Guru Govinda Singh/m»Ó åGç×[ý³V ×ae

25. Which one of the following is not a tribe of Meghalaya–
Tö_» åEõçXäOôç åGç�öÝ å]Hç_Ì̂ » LXLç×Tö åGçrôÝ Xc÷Ì̂ ----
a) Khasi/Fç$JôÝ b) Adi/%ç×V c) Jaintia/LÌ̂ Ü�öÝÌ̂ ç d) Garo/Gçã»ç

English / +e»çLÝ

Fill up the gaps :

26. Days and nights come _______________ turns.
a) by b) with c) out d) at

27. We go to the park ___________ times.
a) on b) in c) at d) with

28. Hippos usually live ______________ herds.
a) by b) in c) at d) with

29. My father is _________ the phone.
a) over b) at c) on d) in

Give the meaning of the underlined words :

30. The two friends have fallen out
a) attacked each other b) defeated
c) quarrelled d) run away

31. __________ your promise
a) keep to b) keep up c) keep on d)keep off

32. The Titanic ___________ and some thousand people were __________
a) drowned, sunk b) sank, drowned c) drowned, drowned d) drowned, died
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33. The judge _________ him because he was found ___________
a) punished, innocent b) acquitted, guilty c) sentenced, not guilty d)punished, guilty

34. Kamal always cares more for his duties than for his rights since he is a __________
a) conscious voter b) freedom fighter c) good citizen d) miscreant

35. The speaker’s _________ over his subject was seen trough his _________ discourse.
a) efficiency, through b) mastery, fluent c) grip, boring d)skill, uninteresting

36. In schools and colleges, examinations are necessary as test of ___________.
a) efficiency b) efficient c) efficiently d) inefficient

37. The train will leave on time, so you should reach the station _________ time.
a) at b) on c) in d) to

38. Now you can put on your shows, but at ‘Namghar’ you are to __________ them________.
a) put, off b) take, away c) cut, off d) put, out

39. Though she is blind of one-eye, she is not blind __________ her short-comings.
a) in b) of c) to d) on

40. Unless he _________ hard, he will fail
a) will work b) doesn’t work c) is working d) works.

41. The blind beggar _________ yesterday.
a) saw b) had seen c) was seen d)will see

42. The machine ___________ automatically if something goes wrong somewhere
a) will stop b) stops c) will be stopped d) would stop

43. Stars twinkle at night; the sun shines __________
a) at the day b) in the day c) during the day-time d) on the day

44. Choose the correct sentence :
a) I have packed my luggages b) I packed my luggages
c) I had to pack my luggages d) I packed my luggage

45. a) We know each other for five years. b) We have known one another since five years
c) We have known each other for five years d) We have been knowing each other for five years

46. a) I saw a big black cat b) I saw a black big cat
c) I saw a black cat and big d) I saw a cat big and black

47. a) Tell me how are you ? b) How are you tell me.
c) You tell me how are. d) Tell me how you are.

48. The active voice of the sentence, ‘‘Teak wood has been used in these furniture’’ is –
a) These furniture use Teak wood. b) These furniture have used Teak wood.
c) In these furniture have been used Teak wood. d) We have used Teakwood in these furniture

4
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49. a) ‘A’ prefer reading that writing b) I prefer reading to writing
c) I prefer to read than to write d) I prefer reading and wrting

50. a) He resembles with his father b) He resembles his father
c) He resembles to his father d) He resembles like his father

General Mathematics / açWýç»S G×STö

51. Which famous Mathematician stated for the first time that every even number greater than 4 can be expressed as the
sum of two odd prime numbers?
åEõçXLX ×[ýFîçTö G×STöpû+ YÒU][ýç»» [ýçã[ý éEõ×$K÷_ å^ 4 TöêEõ QöçIø» YÒãTöîEõäOôç ̂ ÇG½ aeFîçEõ VÇOôç % Ç̂G½ å]ì×_Eõ aeFîç» a]×rô ×c÷$JôçãY YÒEõç` Eõ×»[ý
Yç×» ?
a) Euclid/+=×zõQö b) Pythagoras/Yç+UçãGç»ç$K÷
c) Goldbeach/G·Qö×[ý$K÷ d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

52. The decimal 75.0  when expressed as a rational number is–

75.0 » Y×»ã]Ì̂  aeFîç» »ÖY c÷'_---

a) 75 b)
4

3
c)

40

3
d)

99

75

53. The expression 1
4

1 2 ++ xx  equals to–

1
4

1 2 ++ xx  = ?

a)
2

2

1





 + x b)

2

1
2

1





 +x c)

2

2

1





 − x d)

2

1
2

1





 −x

54. Which of the following points may lie outside the triangle?
Tö_» åEõçXäOôç ×[ý³VÇ ×Åy\ÇöL» [ýç×c÷»Tö Uç×Eõ[ý Yçã»---
a) Centroid/\öç»ãEõ³VÐ b) Incentre/%Ü�öfãEõ³VÐ c) Orthocentre/Yç×VEõ åEõ³VÐ
d) Circumcentre/Y×»ãEõ³VÐ

55. The H.C.F. and L.C.M. of two numbers are 21 and 84 respectively. If the ratio of the two numbers is 1:4, then the larger
number is–
VÇOôç aeFîç» Gfaçfmf %ç»Ó _façfmf yÔã] 21 %ç»Ó 84; aeFîç VÇOôç» %XÇYçTö 1:4 c÷'ã_ QöçIø» aeFîçäOôç c÷'[ý------
a) 12 b) 48 c) 84 d) 108

56. The simplified value of 
044.0

02.02.02.02.0 ×+×  is–

044.0

02.02.02.02.0 ×+×  » a»_ÝEÊõTö ]çX c÷'_---

a) 0.004 b) 0.4 c) 2 d) 1
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57. A total of 324 coins of 20 paise and 25 paise make a sum of Rs. 71. The number of 25 paise coins is–
20 Y+$Jôç %ç»Ó 25 Y+$Jôç» ]ÇPö 324 Oôç ]ÇVÐç» ]çX 71 OôEõç c÷'ã_ 25 Y+$Jôç» ]ÇVÐç» aeFîç c÷'_-----
a) 120 b) 124 c) 144 d) 200

58. An article was sold for Rs. y after giving a discount of x%. The listed price is–
AOôç [ýØ�ÇöTö x% å»c÷ç+ ×V  y OôEõçTö ×[ýyÔÝ Eõ»ç c÷'_* [ýØ�ÇöäOôç» ×_×FTö ]É_î c÷'_----

a)
x

y

−100

100
  Rs. b)

x

y

−1

100
  Rs. c) ( )1001

100
  Rs.

x
y

−

d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

59. The third proportional to (x2 –y2) and (x–y) is–
(x2 –y2) %ç»Ó (x–y) » TÊöTöÝÌ̂  a]çXÇYçTöÝ c÷'_----

a) (x+y) b) (x–y) c) yx

yx

−
+

d) yx

yx

+
−

60. A can do a work in 10 days and B can do the same work in 15 days. In how many days they together will do half of the
same work?
A åÌ̂  10 ×VXTö AOôç Eõç] Eõ×»[ý Yçã» %ç»Ó B åÌ̂  AãEõOôç Eõç] 15 ×VXTö Eõ×»[ý Yçã»* ×Eõ]çX ×VXTö åTöCgã_çEõ VÇãÌ̂ çLãX AãEõ_ãG Eõç]äOôç» %Wýïçe`
Eõ×»[ý Yçã» ?
a) 5 days/×VXTö b) 6 days/×VXTö c) 9 days/×VXTö
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

61. Walking at 
6

7
th of the usual speed, a boy reaches his school 5 minutes early. Find his usual time to reach the school.

ALX _'»ç+ a$Jgô»ç$Jô» G×Tö» 
6

7
mS G×TöTö åFçLEõç×RÍô 5 ×]×XOô %çGãTö �Çõ_Tö =Y×Ø�öTö c÷'[ý Yçã»* �Çõ_Tö =Y×Ø�öTö c÷'[ýê_ åTöCg» ag$Jô»ç$Jô» a]Ì̂  c÷'_-

a) 28 minutes/×]×XOô b) 32 minutes/×]×XOô c) 35 minutes/×]×XOô d) 40 minutes/×]×XOô

62. The scientific notation of 0.000000035 is–
0.000000035 » é[ýpûç×XEõ YÒEõç` c÷'_----
a) 9105.3 −× b) 8105.3 −×
c) 91050.3 −× d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

63. If 
















×





÷





=

−−− 773

11

13

13

11

5

3

y

x
, then the value of 

1−







y

x
 is–

















×





÷





=

−−− 773

11

13

13

11

5

3

y

x  c÷'ã_ 

1−







y

x
 » ]çX----

a)
125

27
b)

27

125
c)

4

5

3
−








d)
1

3

5
−







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64. Decimal system of numeration is also called–
aeFîç ×_Fç» V`×]Eõ Y�ù×TöäOôçEõ åEõç¾ç c÷Ì̂ -----
a) Base-two system/\Éö×] VÇ+ Y�ù×Tö b) Base-three system/\Éö×]-×Tö×X Y�ù×Tö
c) Base-five system/\Éö×]-Ygç$Jô Y�ù×Tö d) Base-ten system/\Éö×]-Vc÷ Y�ù×Tö

65. Which of the following triplets is a Pythagorean triplet?
Tö_» åEõçXäOôç Yç+UçãGç»ç$K÷» ×ÅyYV ?
a) 2, 3, 5 b) 6, 8, 9 c) 6, 8, 10 d) 12, 13, 25

66. A sum of money put at simple interest trebles itself in 15 years. The rate of interest is–
a»_ aÇTöTö åEõçãXç ]É_WýX 15 [ý$K÷»Tö ×Tö×XmS c÷Ì̂ * a»_ aÇTö» c÷ç» c÷'_-----

a) 5% p.a b) 6% p.a c) 10% p.a d) %
3

1
13  p.a

67. If the diagonals of a quadrilateral are equal and bisect each other at 90º, then it is a–
AOôç $JôTÇö\ÉöÛL» EõSï¥Ì̂  a]çX %ç»Ó Y»&ã» 90º åEõçSTö a]×¥F×�øTö c÷Ì̂ * $JôTÇö\ÇöÛLäOôç c÷'[ý----
a) Parallelogram/aç]Ü�ö×»Eõ b) Rhombus/»¶�öç$K÷
c) Square/[ýGïãlùy d) Rectangle/%çÌ̂ Tö ålùy

68. A train covers a distance of 12km. in 10 minutes. If it takes 6 seconds to pass a telegraph post, then the length of the
train is–
AFX å»_GçQÍöÝãÌ̂  10 ×]×XOôTö 12 ×Eõf×]f VÉ»±¼ö %×TöyÔ] Eõã»* å»_GçQÍöÝFãX AOôç æOô×_GÐçZõ» FÇ×Oô %×TöyÔ] Eõ×»[ýê_ 6 æ$K÷ãEõ�ø a]Ì̂  _ç×Gã_,
å»_GçQÍöÝFX» éVHï c÷'[ý-----
a) 90m. b) 100m. c) 120m. d) 140m.

69. In the following figure, ?AEDm =∠
Tö_» ×$JôyTö ?AEDm =∠

A

B D40 º

15º

52 º
C

E ?

a) 55º b) 52º c) 125º d) 107º

70. Which of the following is not a congruence criterion of two triangles?
Tö_» åEõçXäOôç VÇOôç ×Åy\ÉöL» a[ýïçeGa]Töç» Ø�öÝEõç ï̂ Xc÷Ì̂  ?
a) SSS b) AAA c) SAS d) ASA

71. If l, b and h are the length, breadth and height of a room, then area of its four walls is given by–
AOôç åEõçPöç_Ý» éVHïî, YÒØ�ö %ç»Ó =¬JôTöç yÔã] l, b %ç»Ó h c÷'ã_ +Ì̂ ç» $Jôç×» å[ý»» Eõç×_ c÷'[ý----

a) ( )hbl + b) ( )hbl +
2

1
c) ( )hbl +2 d) ( ) lhb ×+2

72. If 75% of a number is added to 75, then the result is the number itself. The number is–
AOôç aeFîç» 75%, 75 » _GTö å^çG Eõ×»ã_ aeFîçäOôç åYç¾ç ̂ çÌ̂ * aeFîçäOôç c÷'_-----
a) 50 b) 60 c) 300 d) 400
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73. 2401176+  is equal to–

2401176+  » ]çX c÷'_----
a) 14 b) 15 c) 18 d) 24

74. A tank 15m. long and 12m. wide contains water. How many cubic metres of water must be filled into it to make the
surface rise by 10cm.?
AOôç YçXÝ æOôáø» éVHïî 15m. %ç»Ó YÒØ�ö 12m. * YçXÝ YÊ�ö» =¬JôTöç 10cm. [ýÊ×�ù Eõ×»[ýê_ ×Eõ]çX HX ×]Oôç» YçXÝ \ö»ç[ý _ç×G[ý ?
a) 18m2 b) 18m3 c) 180m2

d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

75. Three numbers are in the ratio 1:2:3 and their H.C.F. is 12. The numbers are–
×Tö×XOôç aeFîç» %XÇYçTö c÷'_ 1:2:3 %ç»Ó ×acg÷Tö» G.aç.m. c÷'_ 12; aeFîçã[ýç» c÷'_ yÔã]-----
a) 4, 8, 12 b) 5, 10, 15 c) 10, 20, 30 d) 12, 24, 36

General Science / açWýç»S ×[ýpûçX

76. Which of the following would expand most on heating ?
Tö_» åEõçXäOôç TöçY Yçã_ %çOôç+TöêEõ å[ý×$K÷ a�Òaç×»Tö c÷Ì̂  ?ý
a) Alcohol/A_Eõ'c÷_ b) Air/[ýçÌ̂ Ç c) Glass/Egõç$Jô d) Water/YçXÝ

77. The chemical formula of ‘washing soda’ is
EõçãYç» åWýç¾ç $K÷'Qöç» »çaçÌ̂ ×XEõ aeãEõTö c÷'_----ý
a) NaOH b) CaCO

3
c) Na

2
CO

3
d) KClO

3

78. When two plane mirrors are inclined at an angle of 450 and an object is placed between them, the exact number of
images formed will be
450 åEõçSTö UEõç VÇFX a]Tö_ VçãYçX» ]çLTö AOôç [ýØ�Çö »ç×Fã_ ×Eõ]çXOôç YÒ×Tö×[ý¶�ö» aÊ×rô c÷'[ý ?
a) 6 b) 7 c) 8 d) 9

79. Which blood vessels take the impure blood from the body to the heart for purification ?
åEõçX×[ýWý »Nþ×a»ç+ ̀ »Ý»» ×[ý×\ö~ Pöç+» Y»ç %£�ù åTöL c÷ÖV^Ü�öê_ ×[ý£�ùEõ»S» Eõç»ãS Eõ×RÍôÌ̂ ç+ %çãX ?ý
a) Veins/×a»ç b) Arteries/Wý]XÝ c) Capillaries/»NþãEõ×̀ Eõç d) Ventricles/×X_Ì̂

80. The process of digestion is brought about by
Tö_» åEõçXã[ýç»» ¥ç»ç c÷L] YÒ×yÔÌ̂ ç a�~ c÷Ì̂  ?
a) Enzymes/Yç$JôEõ »a b) Hormones/c÷»ã]çX c) Vitamins/×\öOôç×]X d) Starch/å �̀Töaç»

81. An acidic oxide is
Tö_» åEõçXäOôç %ç×¶ÚöEõ %jç+Qö ?ý
a) NO b) N

2
O

5
c) Na

2
O d) H

2
O

82. The melting point of ice on the Kelvin scale is
åEõ_×\öX å�õ_Tö [ý»Zõ» G_SçeEõ c÷'_ý
a) 00 C b) 00 K c) 373 K d) 273 K

8
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83. Enlarged and virtual images can be formed by
QöçIø» %ç»Ó %ad YÒ×Tö×[ý¶�ö aÊ×rô Eõ×»[ý Y»ç VçãYçS c÷'_
a) Convex mirrors/=wø_ VçãYçS b) Concave mirrors/%¾Tö_ VçãYçS
c) Plane mirrors/a]Tö_ VçãYçS d) Concave Lens/%¾Tö_ å_³a

84. Sound travels fastest in
`�» å[ýG %çOôç+TöêEõ å[ý×$K÷ c÷Ì̂ ----ý
a) Water/YçXÝTö b) Wood/EõçPöTö c) Glass/Egõç$JôTö d) Copper/EõYç»Tö

85. A gun is fired at a distance of 990 m  from you. After how much time will you hear the sound ? (Speed of sound in air
is 330 m/s)
åTöç]ç» Y»ç 990 ×]f VÉ»Tö AOôç [ý³VÇãEõã» m×_ Eõ»ç c÷'_* ×Eõ]çX a]Ì̂ » ×Y$K÷Tö TÇö×] m×_» ̀ � £×X[ýç ?
([ýçÌ̂ ÇTö `�» å[ýG c÷'_---- 330 ×]f/æ$K÷f)ý
a) 1 Sec b) 2 Sec c) 3 Sec d) 4 Sec

86. The range of audibility of human beings is
]çXÇc÷» ̀ Ò¾S ̀ ×Nþ» Y×»a» c÷'_---
a) 0 to 20 Hz b) 20 Hz to 20000 Hz c) 0 to 20000 Hz d) 20000 Hz to 40000 Hz

87. Magnesium reacts with water to form magnesium hydroxide and hydrogen. Which of the following is the correct balanced
equation for this reaction ?
å]GãX×$K÷Ì̂ çã] YçXÝ» _GTö ×[ý×yÔÌ̂ ç Eõ×» å]GãX×$K÷Ì̂ ç] c÷ç+QÎöjç+Qö %ç»Ó c÷ç+QÎöãLX =dY~ Eõã»* Tö_» åEõçXäOôç A+ ×[ý×yÔÌ̂ ç» £�ù a]TÇö_ a]ÝEõ»S?
a) 222 H(OH) Mg OHMg +→+ b) 222 H2Mg(OH)OH2Mg +→+

c) 222 HMg(OH)O2HMg +→+ d) 222 2HMg(OH)O2HMg +→+

88. Water is used as a coolant in engines because
+×tXö Pöç�øç »ç×F[ýê_ YçXÝ ×EõÌ̂  [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
a) It makes us feel cold/YçXÝãÌ̂  %ç]çEõ Pöç�øç %XÇ\ö[ý Eõ»çÌ̂
b) It is the most easily available liquid/YçXÝ ac÷LãTö åYç¾ç ̂ çÌ̂
c) It freezes easily/YçXÝ åaçXEõçã_ åGçOô ]çã»
d) It has a high specific heat/+Ì̂ ç» %çãY×lùEõ TöçY %×WýEõ

89. Which of the following is dry ice ?
Tö_» åEõçXäOôç £�õ [ý»Zõ ?
a) Frozen water/ åGçOôç YçXÝ b) Frozen oxygen/åGçOôç %×jãLX
c) Frozen carbon-di-oxide/åGçOôç Eõç[ýïX Qöç+ %jç+Qö d) Frozen air/åGçOôç [ýçÌ̂ Ç

90. While cultivating coconut trees, the distance between the trees should be
Xç×»Eõ_» åF×TöTö G$K÷ã[ýç»» ]çLTö VÉ»±¼ö c÷'[ý _çãG---
a) 7.5 m/×]f b) 7.9 m/×]f c) 8.5 m/×]f d) 0.1 m/×]f

91. General tiredness in our body is caused due to the lack of
`»Ý»Tö açWýç»S VÇ[ýï_Töç c÷Ì̂  Tö_» åEõçXäOôç å]ì_» %\öç¾Tö ?
a) Calcium/åEõ_×$K÷Ì̂ ç] b) Iodine/%çÌ̂ ×QöX c) Phosphorus/Zõ$K÷Zõ»ç$K÷ d) Sodium/$K÷×QöÌ̂ ç]

92. Ethyl alcohol boils at 780C. The Fahrenheit reading equivalent to this temperature is
+Uç+_ A_Eõ'c÷_ 780C =bÕTöçTö =Töã_* A+ =bÕTöç Zõçã»Sc÷ç+OôTö YÒEõç` Eõ×»ã_ c÷'[ý ....................
a) 640F b) 1720F c) 1800F d) 1820F
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93. Blue vitriol and green vitriols are respectively
XÝ_ç ×\ö×®ÏôÌ̂ _ %ç»Ó åa=LÝÌ̂ ç ×\ö×®ÏôÌ̂ _» aeãEõTö yÔã]---
a) CaCo

3
, FeSO

4
b) FeSO

4
, CuSO

4
c) Na

2
CO

3
, FeSO

4
d) CuSO

4
, FeSO

4

94. Bleaching powder is an example of
×[ýÀ×$K÷e Yç=Qöç» c÷'_----ý
a) An acidic salt/%ç×¶ÚöEõ _¾S b) A complex salt/L×Oô_ _¾S
c) A double salt/VÇOôç _¾S d) A mixed salt/_¾S» ×] Ò̀

95. Chemically milk of lime is
[ýGç $JÇôSYçXÝ» »çaçÌ̂ ×XEõ aeãEõTö c÷'_---ý
a) CaCO

3
b) CaHCO

3
c) Ca(OH)

2
d) CaSO

4
.2H

2
O

96. The gold leaf electroscope is used
åaçSYçTö +ã_Eõ®Ïô�õY [ýî¾c÷ç» Eõ»ç c÷Ì̂ ----ý
a) Only to detect a charge/%çWýçX» =Y×Ø�ö×Tö ×XSïÌ̂  Eõ×»[ýê_
b) Only to measure a charge/%çWýçX» Y×»]çX» ×XSïÌ̂  Eõ×»[ýê_
c) Both (a) and (b)/ (a) %ç»Ó (b) VÇãÌ̂ çOôç
d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

97. Villi are present in the walls of
Tö_» åEõçXäOôç» åV¾ç_Tö ×\ö×_ UçãEõý
a) Large intestine/[ýÊc÷dTöÜ�ö b) Small intestine/lÇùVÐçÜ�ö
c) Stomach/YçEõØ�ö_Ý d) All of them/%çOôç+ã[ýç»

98. A person of blood group ‘AB’ can receive blood of group
‘AB’ GÐÓY» åTöL UEõç ]çXÇãc÷ Tö_» åEõçXäOôç GÐÓY» åTöL GÐc÷S Eõ×»[ý Yçã» ?
a) AB only/AB ]çy b) A and B only/ A %ç»Ó B ]çy
c) A, B and O only/A, B %ç»Ó O ]çy d) A, B, AB and O/A, B, AB %ç»Ó O

99. Activities like sneezing, coughing are controlled by
cg÷çÅ×$Jô ]ç»ç, Eõçb %ç×V Eõç ï̂ã[ýç» Tö_» åEõçXäOôç» ¥ç»ç ×XÌ̂ ×Ü�öTö
a) Cerebellum/æ$K÷×»ã[ý_ç] b) Cerebrum/æ$K÷×»[ýÐç]
c) Medulla/å]QÇö_ç d) Pons/Y�û

100. The tissue sclerenchyma which supplies energy to the body  is a
åVc÷Tö ̀ ×Nþ å^çãGç¾ç æ À̀ã»SEõç+]ç Eõ_ç c÷'_---
a) Animal tissue/YÒçSÝ Eõ_ç b) Plant tissue/=×àöV Eõ_ç
c) Special Tissue/×[ýã`b Eõ_ç d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

* * * * * *
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